1. The graph of f(z) = cosz is shifted to the right by 4 A, 4+ cos (f _ 4)
units, then stretched horizontally by a factor of 2, and 2
finally shifted up by 2 units to obtain the graph of h(z). "
Then, h(z) = B 2+ cos (5 _ 2>
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4. The center C' and radius r of the circle given by A C=(1,3), r=+48
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7. Which of the following statements are true? A. OnlyI
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10. If fand g are continuous at z = 2 with g(2) = 3 A = 6
and lim % — _1, then f(2) is i@ L
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12. Given the functions f and g defined by the table below,

z -1 0 1 2
f(z) 0 3 1 -1
g(x) 1 -1 2 -3
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13. I 7-2r < G(r) < (r+2)2 412 for r € [-m,7), A. cannot be determined
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